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Detinition

A {?ur\ch‘on is b'cJ’-ec.Hve 1Bt iS botn in)ech‘uc
and Surjective.

it o fonction i bijeckive, e <guation =40
a(.(lba\{s \’U-.S 2 Uf\\qm, Sowhon ,for each
4eb.

Defiixion
A #Unch'o\n is per'.odrc i Hoxe exisis
Ssome  C>D Such that leke) =P(x).
The Smallest sudh ¢ is referred 4o as
Ha perod of He Ponction:

t—f—l




:Deﬁim'{—ion
A Ponchon is even if £(-x)=Plx).
A ]eJﬂcHor\ is odd [P -F(—x)="79(><).

- %ﬂ /F\\
i;{ i s fx\ x

|_D€1Eir\iHor\
A :[?\md—ior\ s bounded £ dhore exisks
some M>0 S Hat [$0)[2M for
all x in i4s domain.

\\)f = -

Deinition
A ﬁmch‘on IS Montonically increasing.
1 Pol every %Y in 1S demain such thad

X<y it sotisfies $O)££C4); and
Wonotonically decreasing if £(x) 2 Ply),




We S0y Hob & is monotonic s—lfrfd{\,
I'V\c(casm%/ decreasi rtoaS  +he | neoiuah' Hes
aye Skrick x

M —— non Skrich
= Iy s
Elﬁwwx’w«ﬂ Funchons fuf -

See, SLLerW~{ A
&)Mbiam% ?ﬁJV\cHOVLS

’ FO{ 'ﬁ/%: A%R :
. (1z+%)(x)= foargtd  (xen)

2 (Af) (0) = %ﬁ(x) (XEA, Aéﬂa)



’ (f%\m: fcxha(x) (xep )

: ({QI%) (x)= f@ (xeh, %Oc)#o).
o

» For g: S—=T ano( fT-—’ﬂ e ?
de{ime 198' S-—?E b\/

;‘3 ()= f ( 8&)) (xes )

e&“ e R—(0+e) £La§*‘3
[ 4= !bma (0,+00) — T

Exmpl@ Let ﬁ:ﬂéﬁ bcdf.(.'nedbf

f(x): Xz— | x*4j=0
x4+ 1




ondl .
ek o: P® be deined by

Cé(x) -

@ ond caof- 'FOB 7’: g,oﬁ

Fo%(X)'-" 18 (g(X)) = (5‘(&))2 —l ;v
(%Cx))z+ . T

3071(3(%): 6(19&)) = (ﬁm)s: (x""—l)3

X%




Inverse hmetions
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